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2 my school L7 st = 2= Z0f|
3 the fact —1 ARSO|| 2lSfk

4 money from a wallet Aol == 7L
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discover leave cause eliminate

L difficult words from your essay.
2 Many scientists are trying to other life in the universe.
3 The big flood could a lot of damage in the country.

4 The plane will for San Francisco at 11:30.
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1 lead : swrong and untrue

2 destroy . - useful piece of advice

3 tip . » cause much damage to something
4 Incorrect . * take someone somewhere
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1 The parrot says hello to the visitors { like / by } a human.

2 On Sundays, I meet my friends and do { fun something / something fun ).
3 My brotheris as smart (with / as) my father.

4 |don't speak English ( such / as } well as my little brother:

B Ci=S 220 8= 7l 25 Hi=H| DXL,

1 There is wrong nothing with the report.

2 Friendship isas importantly as money. @

3 | couldn’t find strange anything about her.

4 Japanese is not as difficult than English:

€ 2= 21 550]| Rls10] CiS 22 siAlsiA2.

1 He runs very fast like a deer.

=

2 | found something unusual about my dog yesterday.

=

3 This candy is not as sweet as chocolate.

=

& My daughter likes to wear colorful dresses like a princess.

—
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, they are likely to be wrong.

{like / contain words /it the answers /[ “all,” "never” or “always™)
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| think
{ Chinese, Arabic and Vietnamese / are difficult to learn /like / foreign languages )
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Africans believe

{will'happen / this favor / scmething / that if they don‘t return / bad )
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A little asteroid is

(abus/as small'as / as large as Korea / can be / but a big one )

(@ feather and / clouds / this blanket is / as soft as / as light as '}
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